>
A & 0l & AF 2 E A A
20188 = =04t LB =M RA
SH: FOIMBIHA
HE: HASS MEOUF N
O ZoUIEZMELE (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
FOMET A 11,215,225 10,215,125 1,000, 100
= 6,338,694
Xl 200,000
J| 29,000
< 1,102,755
Al 3,544,776
MNASE 420y X 7,619,853 6,748,473 871,380
= 5,838,012
Xl 101,000
< 640,885
Al 1,039,956
R R o, 6,303,953 5,676,442 627,511
= 4,911,650
< 594,668
Al 797,635
IIzdasdaods 29 3,480 3,480 0
201 et 1,680 1,680 0
01 At 2teltl 1,680 1,680 0
OINZMESEAAS FHLY
70,000& * 4% 63 1,680
202 oddl 1,800 1,800 0
01 S LHOIYI 1,800 1,800 0
OJIzdasd FM= 1,800
HH =0 5,893,612 5,355,012 538,600
= 4,714,890
< 589,361
Al 589,361
301 LAz 5,893,612 5,355,012 538,600
= 4,714,890
< 589,361
Al 589,361
01 Ml2ZE 6= 5,893,612 5,355,012 538,600
OMAZ0i(1,6008) 5,893,612
= 4,714,890
< 589,361
Al 589,361
mE=I= 30,411 23,475 6,936
308 XXM SO A 30,411 23,475 6,936
08 WEIIZ20HStE X 30,411 23,475 6,936
Ous=0(210¢) 30,411
& EHS A 44,700 43,000 1,700
= 35,760
< 2,682
Al 6,258
301 et A=z 44,700 43,000 1,700




SH: FOIMBIHA
HE: HASS MEOUF N
Chelr RO MBS CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 35,760
< 2,682
Al 6,258
01 MEI2BZE 05z 44,700 43,000 1,700
Ot&tEH S04 (59 ) 44,700
= 35,760
< 2,682
Al 6,258
& HASSE NA 120,000 120,000 0
307 21201 A 120,000 120,000 0
01 92724l 120,000 120,000 0
Oxael MASE mUALESEE N
10,000,000& * 12& 120,000
AAAAHE =20 XH 43,750 43,750 0
= 35,000
< 2,625
Al 6,125
301 et a3z 43,750 43,750 0
= 35,000
< 2,625
Al 6,125
01 AR 2Z A5l 3 43,750 43,750 0
Oxtatel =gl X 43,750
= 35,000
< 2,625
Al 6,125
=== &30 & 126,000 77,000 49,000
= 126,000
301 g4 = 126,000 77,000 49,000
= 126,000
01 MI2ZE 6= 126,000 77,000 49,000
Odlz==a2 X 2= X 126,000
= 126,000
XS Asl SXHE ZA 42,000 0 42,000
201 Let24E] 2,000 0 2,000
01 At 2t 2l 2,000 0 2,000
OXIGAE SXIAHE 22t T/FE 29 2,000
207 RO 40,000 0 40,000
01 A7 39l 40,000 0 40,000
OHM42l XIS Atel=XHE = S 40,000
HAS Xra&Xd 1,315,900 1,072,031 243,869
= 926,362
Xl 101,000
< 46,217
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01 M 5 X &l &l
ASE MEOF XY
AS THEA

SN BB (HA) - MM - BES il HDEZ

Al 242,321

AXEHH 29 253,586 292,739 A 39,153
2 177,510
Al 76,076

307 21201 & 253,586 292,739 A 39,153
= 177,510
Al 76,076

10 AL SXAIEEE2EHEX 253,586 292,739 A 39,153
OXSExegdy 29 253,586
= 177,510
Al 76,076

Jharzte gE K& 126,250 64,564 61,686
Xl 101,000
Al 25,250

307 glztol & 126,250 64,564 61,686
Xl 101,000
Al 25,250

05 RIZt2IE = 126,250 64,564 61,686
OJtArzte 2252201 A XHRH ALY 126,250
X 101,000
Al 25,250

g2z K& 770,288 683,250 87,038
= 616,231
< 46,217
Al 107,840

307 21240 770,288 683,250 87,038
= 616,231
< 46,217
Al 107,840

11T M SXAISE EX 770,288 683,250 87,038
OX&Z2Z2AY 770,288
= 616,231
) 46,217
Al 107,840

LISSETAY XA 36,250 12,884 23,366
= 29,000
Al 7,250

301 YU B A 36,250 12,884 23,366
2 29,000
Al 7,250

01 AR 2&8H6l= 36,250 12,884 23,366
Osl¥IssE NE 36,250
= 29,000
Al 7,250

2II5sE N 14,925 18,594 A 3,669
= 11,940




SH: FOIMBIHA
HE: HASS MEOUF N
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 2,985
301 et d =S 14,925 18,594 A 3,669
= 11,940
Al 2,985
01 MEIBEZE 05z 14,925 18,594 A 3,669
ougrsss N 14,925
= 11,940
Al 2,985
SYISSE2 AHSXE 82,921 0 82,921
= 66,337
Al 16,584
301 et a3z 82,921 0 82,921
= 66,337
Al 16,584
01 MEIBE X263 82,921 0 82,921
OgIs=&d2 XA 82,921
= 66,337
Al 16,584
FESAISSE MY X& 31,680 0 31,680
= 25,344
Al 6,336
301 gt d= 31,680 0 31,680
= 25,344
Al 6,336
01 Ml2ZE 6= 31,680 0 31,680
odEsIESE NE 31,680
= 25,344
Al 6,336
FOMETAME A 8EHAH A5 1,225,929 1,171,332 54,597
= 333,828
Xl 99,000
J| 29,000
= 52,450
Al 711,651
HAANES B3 36,488 38,488 A 2,000
< 9,000
Al 27,488
et 25 10,260 10,260 0
201 24l 2,500 2,500 0
01 At 2t 2l 2,500 2,500 0
ORdD AMYX 21 2,500
301 et a = 7,760 7,760 0
01 MEIBEE 263 7,760 7,760 0
Odled X5 sS4 7,000& = 1541 « 123 1,260
Odled Xt Hetr bl 20,000& = 5% = 12& 1,200




SH: FOIMBIHA
M FOMBXEMUIA BLHH 7S
Sl FHANS 25 CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OdedXt73S ==yl 50,0003 = 5% » 43 1,000
Odled Xt Il =l 50,000& = 1H » 63 300
OAZ X ZH Yl 750,000& » 29H 1,500
OAZ X O & HI 750,000& = 29H 1,500
OAMZX X = 50,000& = 27 = 10 1,000
=M = 3,500 3,500 0
201 LBH2E| 3,500 3,500 0
03 A2 Z Hl 3,500 3,500 0
OR=H = 3,500
Mol s 2el 4,728 4,728 0
201 L2l 432 432 0
02 =224l 432 432 0
OMils S22 LAY Saldl
36,000& » 12& 432
202 oddl 1,296 1,296 0
01 = LH &4 1l 1,296 1,296 0
OMoi 5 dFF&
81,000& » 28 = 2 « 43| 1,296
307 glz2+ol & 3,000 3,000 0
01 2L =4l 3,000 3,000 0
OSZLMalt mahotd 2 =4AHH X
300,000& » 102t 3,000
e 2SN 18,000 20,000 A 2,000
< 9,000
Al 9,000
301 LEtE 4= 18,000 20,000 A 2,000
< 9,000
Al 9,000
01 MEIBEZE+06l= 18,000 20,000 A 2,000
Oxtarel 218 XA 18,000
< 9,000
Al 9,000
FOMTRAME A X2HAH 25 93,992 23,992 70,000
FOMET2AEIAAY 2H 90,432 20,432 70,000
201 L2l 3,600 3,600 0
01 At 22l 3,600 3,600 0
OFUMETANE A EEE HE
200& * 2& * 1,0000H 400
OFMEX A MHI A HH ZS2 (442 0¢)
50,000& = 40 =20F = 8JH * 23 3,200
202 o4dl 5,832 5,832 0




SH: FOIMBIHA
Y FOMESXIAAMEA BLHH 25
Chel: FOMETAMEIA XEAXAH RS (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 5,832 5,832 0
OZMEXAMNHA 22T
81,000& = 2 * 3& * 123l 5,832
203 YR =&l 10,000 10,000 0
03 Al F=XH R =ZH| 10,000 10,000 0
ONMASE MEormU 10,000
207 A RO 70,000 0 70,000
01 2339l 70,000 0 70,000
OANRI=EEotdEH 28 JI=2HE 70,000
301 LB A Z 1,000 1,000 0
09 EALEHIE &S 1,000 1,000 0
OMazZ2dM ZULHS ol 1,000
FY X3l 2F2e 3,560 3,560 0
201 ¢et24l 3,560 3,560 0
02 =224l 3,560 3,560 0
OANEES |X2e 2,000
ORUAHIAAY tanz
130,000& * 12& 1,560
S AL 2 A5t 253,171 242,932 10,239
= 25,288
< 7,000
Al 220,883
N2SAEEH 28 X3 144,950 139,401 5,549
307 glz2tol & 144,950 139,401 5,549
10 AL SXAIEEE 22X 144,950 139,401 5,549
Ot NASAHEH 29 144,950
A SAR =4 3,645 3,645 0
202 (44l 1,620 1,620 0
01 SLHOIYI 1,620 1,620 0
ONASA 245 ALET
81,000& = 2F * 2& * 53] 1,620
301 et a =z 2,025 2,025 0
09 &AL HIB &S 2,025 2,025 0
OX3SACHE &IJHAH (] 81,0008 = 253 2,025
ANHESAH 2OUIOIH XI& 46,894 42,056 4,838
= 23,447
Al 23,447
307 21201 A 46,894 42,056 4,838
= 23,447
Al 23,447
10 AL SXNAIEEE2EHEX 46,894 42,056 4,838




2N X0
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Hau: ZoMBNAMHA BYHH 7=
Sl MRS A 245 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OX&sAt 2CIUIOIH X& 46,894
2 23,447
Al 23,447
N2ASAM B8 X3 3,682 3,830 A 148
= 1,841
Al 1,841
307 21201 A 3,682 3,830 A 148
= 1,841
Al 1,841
11T MISRAASEX 3,682 3,830 A 148
OXNESAL 282 X 3,682
= 1,841
Al 1,841
N SAHEEHAMYE 2 K& 40,000 40,000 0
307 21201 A 40,000 40,000 0
11T AL SXAEE = 40,000 40,000 0
ONMESALEEH A2 X3 40,000
NHHSAHEE T2 2Y AWEE XJAY 14,000 14,000 0
< 7,000
Al 7,000
307 12+l & 14,000 14,000 0
< 7,000
Al 7,000
11T M 2XAISE EX 14,000 14,000 0
OXNIASAEE T2 2Y CHMEIEXRAAY 14,000
< 7,000
Al 7,000
NEFE SEAMUIA DR SE 830,574 854,216 A 23,642
= 308,540
Xl 99,000
J| 29,000
< 36,450
Al 357,584
HASEE 42ty & 16,084 14,084 2,000
201 LBt 2,900 2,900 0
01 At 22l 2,900 2,900 0
O=8 SANAMHA 2 F&A 500
OSXAEIA St 222 M
2,000& * 400% 800
OUs=XAE s2¢tHE M
100& = 6,0000H 600
Osl2%ls el g2 100& = 10,0008 1,000
202 O4dl 5,184 5,184 0
01 = LH 4 1l 5,184 5,184 0




SH: FOIMBIHA
Hau: ZoMBNAMHA BYHH 7=
Sel: AEE SHMUIA JYRE CERED
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
SEEEI IS IEEES:
81,000& * 2% * 2< x 163 5,184
203 SR F & 8,000 6,000 2,000
03 Al ZH =& 2= X H| 8,000 6,000 2,000
OUSEANBIAANA XU =& 8,000
A 22X €23 2HXSE 70,000 68,054 1,946
& 13,000
Al 57,000
307 2iz2tol & 70,000 68,054 1,946
& 13,000
Al 57,000
02 QIZ2IA AAIE E X 5,000 3,054 1,946
OB A3 =X S K& 5,000
10 M SXAEEHESIGHEX 65,000 65,000 0
OME=2XES &Y 65,000
& 13,000
Al 52,000
NEAMIIBHEAM 2 47,800 47,800 0
& 6,000
Al 41,800
201 LBt Y| 2,800 2,800 0
01 AP 22| d| 2,800 2,800 0
OXNEAMIEE EoAM SEFALE
70,000 * 20¥ * 23| 2,800
307 2iz2to| A 45,000 45,000 0
& 6,000
Al 39,000
10 MM SAANEEHESIGHEX 45,000 45,000 0
OXEAMIBEEHESEANM 24 X 45,000
= 6,000
Al 39,000
NEAMIISEXNAHMA TS 1,400 1,400 0
301 et A= 1,400 1,400 0
09 HAIAHI BEAZ 1,400 1,400 0
Ool2sd 3o &A 1,400
282X A& 312,500 312,500 0]
= 250,000
o 12,500
Al 50,000
301 et A= 312,500 312,500 0]
= 250,000
o= 12,500
Al 50,000
01 AISIE& A %52 312,500 312,500 0




2N
X ZH -
L= B

el

ANHIA HSHH 75
SEAUA JBTS

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O2da2=RX XEAY 312,500
= 250,000
< 12,500
Al 50,000
NSSMI MY A EXALY K& 123,750 62,786 60,964
Xl 99,000
< 4,950
Al 19,800
307 21201 A 123,750 62,786 60,964
Xl 99,000
< 4,950
Al 19,800
05 RIZt2IEt = 123,750 62,786 60,964
OXIGAtsl MHIA SEXHALS 123,750
Xl 99,000
< 4,950
Al 19,800
NS A MH A EXALY 22 K& 5,000 3,000 2,000
= 4,000
Al 1,000
201 £B-2%H| 5,000 3,000 2,000
= 4,000
Al 1,000
01 At 22l 5,000 3,000 2,000
OXG A HHI A ETMY E22 ME 5,000
= 4,000
Al 1,000
XS AsI =X X2 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
11 AISI S AASEE = 5,000 5,000 0
OX<EAa =X 3 5,000
N2 SEAd 22l X 15,000 15,000 0
= 7,500
Al 7,500
201 Let2d] 7,500 7,500 0
= 3,750
Al 3,750
01 At 22l 7,500 7,500 0
OAtdlZelAtE 29 7,500
= 3,750
Al 3,750
301 gt 4= 7,500 7,500 0
= 3,750
Al 3,750
01 A3l EE E 56l = 7,500 7,500 0




SH: FOIMBIHA
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= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O=XAEA X& 7,500
= 3,750
Al 3,750
EAEXNEHE A KA 80,000 80,000 0
307 21201 A 80,000 80,000 0
11 AISI S XA E X 80,000 80,000 0
OBtXI-A 4 Se=sHH 29 80,000
Fow 29 XA 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T MISXAISEEX 10,000 10,000 0
OFEWI ALY K& 10,000
BASTAAEY (s]Led) 2 4,640 4,640 0
201 £B-2dH| 4,640 4,640 0
01 At 224l 2,000 2,000 0
OBHSXAHAAE (5 Yel )EE S 2,000
02 23224l 2,640 2,640 0
OEA=SXNHAAAE 7XE | 2,640
SHE XEFE SSMHA XA 67,200 67,200 0
= 47,040
Al 20,160
201 2et24d] 33,600 33,600 0
= 23,520
Al 10,080
01 At 22l 33,600 33,600 0
O=XdlEs s X558 sgAMHlA 23 H|
A& 33,600
= 23,520
Al 10,080
301 L2 A= 33,600 33,600 0
= 23,520
Al 10,080
01 Al EE H =06l = 33,600 33,600 0
O=XdlEs s X5 sEAMHA X2 33,600
= 23,520
Al 10,080
SHS AEE SEAMEIA XA (KA 14,200 11,000 3,200
201 LBH2d| 11,000 7,800 3,200
01 At 22l 3,000 3,000 0
O=XdEs =& g8 3,000
03 &AL Z I 8,000 4,800 3,200
OSXolBs ags 8435(s) 8,000
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< 2,112
Al 8,448
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= 2,112
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5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O=gR3k )% 224 & 1,000
< 200
Al 800
SHFSA X 470,000 321,200 148,800
301 et a = 470,000 321,200 148,800
01 MEIBEE 253 470,000 321,200 148,800
O3NRBX E8Hu=<(505%) 462,000
O=JI23X A =23 200,000& * 409 8,000
6.258 % JIE A 8,200 7,600 600
201 Let24E] 4,700 4,100 600
01 At 22l 2,000 2,000 0
OUZIAIZ(52)Bd BIDK(AMSY)
1,000,000& * 23| 2,000
03 & Ar2 I 2,700 2,100 600
O8> (=24X) 200,000 = 14 200
Oga=a & HU(EEE) 60,000& = 2004 1,200
OEH= 217201 1,000& * 5004 500
Ox=&& M 700& = 1,0000H 700
O3t 100,000& * 12K 100
301 et a = 3,500 3,500 0
09 HALAMHI B &S 3,500 3,500 0
O6.25& A HIt R34 =4 K&
7,000& = 500 3,500
AE - M 2l 554,846 667,661 A 112,815
= 104,622
< 177,000
Al 273,224
AE ST e 554,846 667,661 A 112,815
= 104,622
S 177,000
Al 273,224
SAZEIHE ALY 30,368 30,368 0
301 et d=s 30,368 30,368 0
NIJIEEd= 30,368 30,368 0
Ok & Hielgh =8 Y
18,000& » 60 A « 123 12,960
O & HiHelgh Med| S5
890& * 1001 = 60JH A = 128 6,408
O2ggas EXE AX 100,000 * 25J4 & 2,500
OXMs4ds s HAES &
25,000& * 1000 2 2,500
Oog2s8a M=J Tt & AMEI| X
500& * 5000 = 2& » 12000 & 6,000




SH: FOIMBIHA
M AE QM 2L
Sl AR BE M (B9 ®R)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@i HRE2
A FZOLN 22| 11,234 19,049 NT,815
201 gBt24d| 1,400 1,400 0
01 AP 22| H| 1,400 1,400 0
OQAalZotd2e E8S HMHZ 3,500 * 2000H 700
ONHE0IASOHNES P THIHY A OFLY H X| &
Ml & 10,000& * 700H 700
202 01l 4,344 4,344 0
01 2Ll 4,344 4,344 0
OBZ  AESAY Y253
81,000 * 2% * 22 « 63| 1,944
OSIMeA Cags 2,400
206 M = dl 2,550 2,550 0
01 X2 H| 2,550 2,550 0
OnAMsE 2t0121E € #¢
8,500& * 1007 * 3= 2,550
301 et A= 2,940 2,940 0
11 J|EtE A= 2,940 2,940 0
OAME4+H Z2HH B4
10,000& = 1224 = 123 1,440
OFRFEHAE MNEMZ 100,000 = 3A 300
OAHI A ZSAMZAIR ESH|
50,000& * 6H = 4L 1,200
Helol2a e XNJEEH 89 200,000 200,000 0
= 100,000
= 40,000
Al 60,000
307 2Iz2t0| & 200,000 200,000 0
= 100,000
= 40,000
Al 60,000
05 QIZ2tREF 2 200,000 200,000 0
Oelol Salzae XIME X 200,000
= 100,000
& 40,000
Al 60,000
AAT AEXNEDIZ 29 20,000 10,000 10,000
= 20,000
301 LBt A= 20,000 10,000 10,000
= 20,000
09 SHAIAHI B A2 5,500 5,500 0
O AHIXH AZSRM2AAIF EH| 5,500
= 5,500
11 JIEtE A& =2 14,500 4,500 10,000




SN FUMBTRA
Hu: AE QM B2
Sl AE - ZE M CEEEED
5 - 4
SA - BB B () - MM - BES Ol &t o e HmEET
OcsgAa QdEE XA 4,500
< 4,500
OXNgEsSa 21 10,000
< 10,000
A0LE AlZotdzte] SgY SHRs 2,244 2,244 0
= 1,122
Al 1,122
201 Let249] 2,244 2,244 0
= 1,122
Al 1,122
02 =24l 2,244 2,244 0
OALLE AlZetdzel Sg2 sS4l 2,244
= 1,122
Al 1,122
SA e A SN 273,000 399,000 A 126,000
< 117,000
Al 156,000
402 RIZER20| A 273,000 399,000 A 126,000
< 117,000
Al 156,000
02 It EAILS EZ (01 &) 273,000 399,000 A 126,000
OSA , =segA 3 273,000
< 117,000
Al 156,000
OEoDIESAE dg2eld 23 5,500 5,500 0
= 2,750
Al 2,750
301 et A= 5,500 5,500 0
= 2,750
Al 2,750
MIEE43 5,500 5,500 0
O0eollIsAs dgaeld gl 5,500
= 2,750
Al 2,750
AL ZAI& &=l 1,500 1,500 0
= 750
Al 750
301 gt d= 1,500 1,500 0
= 750
Al 750
1MIIEBESS 1,500 1,500 0
OAILIGIZAIE ESHI 1,500
= 750
Al 750
=g - SAHL 28 - 2Y 2F2 11,000 0 11,000




SH: FOIMBIHA
M AE QM 2L
Sl AR BE M (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 5,000 0 5,000
01 At 22l 5,000 0 5,000
O21 -2y 28 822 MAH
500& 10,0008 5,000
301 et d=s 6,000 0 6,000
1MIIEESS 6,000 0 6,000
O2fh -2y 23 0 g4 AHEENS 6,000
HY2HIH(FUMER L) 198,143 134,576 63,567
= 62,232
Al 135,911
JlEZdl 43,000 38,312 4,688
JlE&l 43,000 38,312 4,688
201 ¢er2d| 34,880 32,192 2,688
01 At 22/l 30,680 27,992 2,688
ORN2Y =&l 200,000& » 12& 2,400
OMREE FL(SAMX S) 200,0008 * 128 2,400
O#IANRIII A2 F¢
200,000& = 804 23l 3,200
OSAI(=SEI)extE
220,000& = 204 = 123 5,280
Odza=xJ gz 50,000& = 12& 600
O= &l 8,000& = 256% 7 » 12& 16,800
02 =24l 4,200 4,200 0
ORERS 350,000& = 12& 4,200
202 o4dl 1,920 1,920 0
01 = LH o4 1l 1,920 1,920 0
OHI&4Z2 2o 1,920
203 YR =&t 6,200 4,200 2,000
01 12 2Z YR8 2,000 0 2,000
OFUMESIAAE J22ZHRF=LH| 2,000
04 FN2ELRZ=TH| 4,200 4,200 0
ORM2IYRFLHI 350,000& = 12& 4,200
el 2l 155,143 96,264 58,879
= 62,232
Al 92,911
QIA2HHI (SE At 22l A) 130,224 96,264 33,960
= 62,232
Al 67,992
101 1244 dl 130,224 96,264 33,960
= 62,232
Al 67,992




SN FOIMBIHA
HE: HN2 YA (FUMBRAA)
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
03 RIAHL*ZZXHE 130,224 96,264 33,960
OSE A 22l AH4Y) 124,464
= 62,232
Al 62,232
OXFMZAHI(4Y) 120,000& = 4% = 1204 & 5,760
ol ALY 24,919 0 24,919
101 124 4| 24,919 0 24,919
03 RIAHEZZXHE = 24,919 0 24,919
OS2 - 83AE o= 24,919
ollgz 1,119,800& » 1€ » 12& 13,438
oAt 2 1,119,800 * 400% ~ 1Y 4,480
cHINKIEINLE 70,672 x 1¥H x 12¢& 849
o HAEF Y|
1,119,800 * 55% * 25| » 1H 1,232
SN e PN == 160,000 * 1¥ = 128 1,920
o MM FAY| 120,000€ * 1 = 128 1,440
o DIJ & 100,000& * 1¥ = 128 1,200
o JIH 2 X H| 30,000 = 1 = 12&€ 360
HEES=(FoMETRA) 502,125 729,207 N 227,082
WEAHAXI= 502,125 729,207 N 227,082
LHEAHH K= 502,125 729,207 N 227,082
701 JIEISI HSHEZ 502,125 729,207 N 227,082
01 JIEIS HE &2 502,125 729,207 N 227,082
Oozs=2sEYEIH M3 502,125




